R 03-1
1. woszammLzso, (11945

(1) By+1)?
(3) (5x +2)?

(5) (3a—5)

2. WOREEM LS, (1544

(1) (22 — 1)(2z +5)
(3) (2y+3)(2y +5)
(5) (52 + 3)(5z + 1)
(7) (3z — 4)(3z — 5)

(9) (2a —T7)(2a+ 3)

3. ROXZ R LS, (114 5)

(1) 2z —1)(2z+1)
(3) y+1)(2y —1)

4. wostrmmiis, (1040

(1) (bx +2)(bx +1)
(3) (5a —4)(ba + 2)

(5) (b +1)(5z + 3)

~ E’H 03-1 -

(2) (2z+ 3)?

(4) (2y+5)*

(6) (5a+ 2)2

(2) (5y +3)(5y —4)

(4) (5y —2)(5y +4)

(6) (5b+ 4)(5b+ 2)

(8) (32 — 5)(3z + 1)

(2) (3b+1)(3b—1)

(4) (52 — 3)(5x + 3)

(2) (3z +4)(3z + 1)

(4) 2y+1)(2y —1)

(6) (3z — 4)(3x + 4)

— 13th-note —

)



~ E’H 03-1 -

R 03-1

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) By+1)? =9y* +6y+1
(3) (5 +2)2 = 25x? + 20x + 4

(5) (3a—5)2 = 9a? — 30a + 25

WOR AR L7223V, (11714 5)

(1) 2z —1)(22+5) = 4x®>+ 8 — 5

(3) 2y+3)2y+5) = 4y + 16y + 15
(5) 5z +3)(5x+1) = 25x2 + 20x + 3
(7) 3z —4)(3z —5) = 9x2? — 2Tz + 20

9) (2a—T7)(2a+3) = 4a? — 8a — 21

WOXERERA LI, (14 5)

(1) z—1)(2z+1) =4x?>—1

3) 2y+1)(2y—1) =4y* —1

WOR AR L2 S0, (1794 4)

(1) 5z +2)(5z+1) = 25x2 + 15z + 2
(3) (5a—4)(5a+2) = 25a? — 10a — 8

(5) (5x+1)(5z+3) = 25x? + 20x + 3

( ) ( ) )

(2) 22432 =4x®>+12x + 9

(4) (2y+5)* = 4y® + 20y + 25

(6) (5a+2)2 = 25a? + 20a + 4

(2) (5y+3)(5y —4) = 25y% — 5y — 12
(4) 5y —2)(5y +4) = 25y + 10y — 8
(6) (5b+4)(5b+2) = 25b% + 30b + 8

8) 3z —5)3z+1) =9x? —12x — 5

(2) 3b+1)3b—1) = 9b% — 1

(4) 5z —3)(5z+3) = 25x% — 9

(2) Bz +4)(Bzx+1) = 9x% 4+ 15 + 4
4 2y+1)2y-1) =4y* -1

6) (3z —4)(3x+4) = 9z2 — 16

— 13th-note —



R 03-2
1. woszammLzso, (11945

(1) (5z —1)*
(3) (52 +4)?

(5) (5x +2)?

2. WOREEM LS, (1544

(1) (52 — 4)(5z — 3)
(3) (5a — 4)(5a + 3)
(5) (2b—1)(2b+5)
(7) (22 + 1)(2z — b)

(9) (3b— 2)(3b+5)

3. ROXZ R LS, (114 5)

(1) (5a + 3)(5a — 3)
(3) (by +1)(5y — 1)

4. wostrmmiis, (1040

(1) (5y —3)(5y + 1)
(3) (2z — 1)(2z —7)

(5) (22 + 1)(2z — 5)

~ BH 03-2 -

(2) 2z —1)

(4) (3y —5)?

(6) (5b+4)2

(2) (2a—1)(2a —5)

(4) (3a —5)(3a+1)

(6) (52 +3)(5z — 1)

(8) (3a+1)(3a —4)

(2) (32 +2)(3z — 2)

(4) (2a+3)(2a — 3)

(2) 2z+3)(2x—1)

(4) (3z —4)(3x +4)

(6) (3z+4)?

— 13th-note —

)



~ BH 03-2 -

R 03-2

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) (bz —1)2 = 25x? — 10x + 1
(3) (5 +4)2 = 25x2 + 40x + 16

(5) bz +2)? = 25x2 + 20x + 4

WOR AR L7223V, (11714 5)

(1) (5z —4)(5z — 3) = 25x? — 35x + 12
(3) (5a —4)(5a+3) = 25a% — ba — 12
(5) (2b—1)(2b+5) = 4b®> +8b — 5

(7) 2z +1)(22—5) = 4x®> —8x — 5

(9) 3b—2)(3b+5) = 9b% + 9b — 10

WOXERERA LI, (14 5)

(1) (5a+3)(5a —3) = 25a® — 9

(3) 5y +1)(5y—1) = 25y* —1

WOR AR L2 S0, (1794 4)

(1) 5y —3)6y+1) = 25y? — 10y — 3
(3) 2z —1)(2x—7) = 4x? — 16z + 7

(5) 2z +1)(2z—5) =4x®> —8x — 5

( ) ( ) )

2) 2z —-12 =4x®> —4x + 1
(4) (3y—5)* = 9y® — 30y + 25

(6) (5b+4)2 = 25b% + 40b + 16

(2) (2a—1)2a—5) = 4a® —12a +5

(4) (3a—5)(3a+1) = 9a%? —12a — 5

6) (5x+3)(5z—1) = 25x% 4+ 10z — 3

8) (3a+1)(3a—4) = 9a® — 9a — 4
(2) Bz +2)(3z—2) = 9x% — 4
(4) (2a+3)(2a—3) = 4a®> —9
(2) 2z +3)(2x—1) = 4x% 4+ 42 — 3

(4) 3z —4)(3z+4) = 9x? — 16

(6) (3z+4)2 = 9x2? 4 24x + 16

— 13th-note —



R 03-3
1. woszammLzso, (11945

(1) (22 —3)?
(3) (2b+17)2

(5) (5x + 3)?

2. WOREEM LS, (1544

(1) (2y —5)(2y +3)
(3) (5y +3)(5y + 3)
(5) By —2)(3y —4)
(7) (3a+2)(3a+ 4)

(9) (3z +2)(3z — 1)

3. ROXZ R LS, (114 5)

(1) (52 + 3)(5z — 3)

(3) (20— 1)(2a + 1)

4. wostrmmiis, (1040

(1) (5y +4)(5y —4)
(3) (5b+ 3)(5b — 2)

(5) (52 — 2)(5z + 3)

~ BF 03-3 -

(2) (5x+1)?

(4) (2z + 3)?

(6) (2b0—7)

(2) 2y—=5)(2y—7)

(4) (5z +3)(5x +4)

(6) (bx+4)(5x +2)

(8) (2z —17)(2x — 5)

(2) (22 — 7)(2z +7)

(4) 2z+7)(2x—17)

(2) (5b—4)2

(4) (3b—4)(3b —5)

(6) (2z+3)(2x —5)

— 13th-note —

)



~ BF 03-3 -

R 03-3
1. woszammLzso, (11945

(1) (22 —3)2 = 4x®> — 12+ 9
(3) (2b4+7)2 = 4b? 4 28b + 49

(5) 5z +3)2 = 25x2 4+ 30x + 9

2. WoREEM LS, (10450

(1) 2y—5Qy+3) =4y® —4y — 15
(3) (5y+3)(5y +3) = 25y* + 30y + 9
(5) By —2)3y—4) = 9y* — 18y + 8
(7) (3a+2)(3a+4) = 9a? + 18a + 8

9) Bz +2)B3z—1) = 92?4+ 3z — 2

3. ROXZ R LS, (114 5)

(1) (5z+3)(5z —3) = 25x% — 9

3) (2a—1)(2a+1) = 4a? —1

4. wostrmmiis, (1040

(1) (5y +4)(5y —4) = 25y? — 16
(3) (5b+3)(5b—2) = 25b% 4+ 5b — 6

(5) (5x —2)(5z+3) = 25x? +5x — 6

( ) ( ) )

(2) 5z +1)?2 = 25x2 +10x + 1
(4) 22432 =4x®>+12x + 9

(6) (2b—7)2 = 4b? — 28b + 49

(2) 2y —5)2y—7) = 4y? — 24y + 35
(4) (5zx+3)(5z+4) = 25x? + 35x + 12
6) (5z +4)(5z +2) = 25x2 + 30x + 8

(8) (2 —7)(2z —5) = 4x? — 24x + 35

(2) (22 —T7)(2x+7) = 4x? — 49

4) 2z +7)(2z—7) = 4x2 — 49

(2) (5b—4)2 = 25b% — 40b + 16
(4) (3b—4)(3b—5) = 9b% — 27b + 20

6) (2z+3)(2z —5) = 4x? — 4x — 15

— 13th-note —



~ BF 03-4 -
&R 03-4 ( M) ( ) )

1. woszammLzso, (11945

(1) (3z+1)? (2) (2z+5)?
(3) (b + 4)? (4) (2z + 3)?
(5) (5y +1)? (6) (2z—3)*

2. WOREEM LS, (1544

(1) (3a —2)(3a +5) 2) (22— 1)(22 +7)
(3) (5a — 2)(5a + 4) (4) (22— 5)(2z — 1)
(5) (3 —4)(3z +1) (6) (32 +5)(3x +4)
(7) (5b—3)(5b+ 4) (8) (22— 1)(22 + 5)

(9) (2b—7)(2b+1)

3.2&@ﬁ%%%bﬁébu(1%4ﬁ)

(1) (52 — 4)(5z + 4) (2) (3z — 5)(3z +5)

(3) (30— 4)(3b+ 4) (4) (22 —7)(2 +7)

4. wostrmmiis, (1040

(1) (2y —17)? (2) (5b+ 4)2
(3) (3a+5)? (4) (3x —1)(3z 4 5)
(5) (32 —4)(3z —2) (6) (32 +2)(3x +4)

— 13th-note —



~ BF 03-4 -

R 03-4

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) Bz+1)?2 =9x% 4 6x + 1

(3) (5 +4)2 = 25x2 + 40x + 16

(5) (5y +1)* = 25y* + 10y + 1

WOR AR L7223V, (11714 5)

(1) Ba—2)3a+5) = 9a? + 9a — 10
(3) (5a —2)(5a+4) = 25a? + 10a — 8
(5) Bz —4)(3z+1) =922 — 9z — 4
(7) (5b—3)(5b+4) = 25b% + 5b — 12

9) 2b—T7)(2b+1) = 4b%2 —12b—T7

WOXERERA LI, (14 5)

(1) (5z —4)(5z+4) = 25x? — 16

(3) (3b—4)(3b+4) = 9b% — 16

WOR AR L2 S0, (1794 4)

(1) 2y —7)? = 4y? — 28y + 49
(3) Ba+5)?2 = 9a?® + 30a + 25

(5) B3z —4)(3z—2) = 9x? — 18 + 8

( ) ( ) )

(2) (22 +5)2 = 4x? 4 20x + 25
(4) 22432 =4x®>+12x + 9

6) (20 —3)2 = 4x®>—12x+ 9

(2) 2z —1)(2z+7) =4x2+ 12— 7
(4) (22 -5) 2z —1) = 4x®> — 12z + 5
6) (3z+5)(3z+4) = 9x2 + 27x + 20

(8) 2z —1)(22+5) = 4x*>+ 8x — 5

(2) 3z —5)(3z+5) = 9x? — 25

4) 22 -7)(2z+7) = 4x2 — 49

(2) (5b+4)2 = 25b% 4 40b + 16
(4) Bz —1)(3z+5) = 9x% 4+ 12 — 5

6) B3z +2)(3z+4) =92 + 18 + 8

— 13th-note —



R 03-5
1. woszammLzso, (11945

(1) (22 —5)?
(3) (2b+5)2

(5) (2x +1)?

2. WOREEM LS, (1544

(1) (52 +4)(5z — 4)
(3) (2a +1)(2a — 5)
(5) (by +1)(5y —2)
(7) (22 +3)(2x +5)

(9) By —4)(3y +2)

3. ROXZ R LS, (114 5)

(1) (bz —2)(5x +2)

(3) (bz —1)(5z +1)

4. wostrmmiis, (1040

(1) (5b+1)2
(3) 3z +4)(3x —2)

(5) (ba+4)(ba+4)

~ BF 03-5 -

(2) (bz —4)

(4) Bz —1)

(6) (3y +2)°

(2) (52 +3)(5z — 4)

(4) (32 — 4)(3z + 1)

(6) (bx —1)(bx —1)

(8) (3z+2)(3x+4)

(2) 2a+7)(2a—-T7)

(4) (32 +1)(3z — 1)

2) (22 —1)(2z + 3)

(4) (2b—5)(2b—1)

(6) (5a — 3)(5a + 3)

— 13th-note —

)



~ BF 03-5 -

R 03-5

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) (22 —5)2 = 4x? — 20x + 25
(3) (2b+5)2 = 4b% 4+ 20b + 25

(5) 2x+1)?2 =4x®>+4x+1

WOR AR L7223V, (11714 5)

(1) 5z +4)(5z —4) = 25x%x — 16

(3) (2a+1)(2a—5) = 4a® — 8a — 5
(5) (5y+1)(5y —2) = 25y? — by — 2
(7) 2z +3)(2¢+5) = 4z 4+ 16x + 15

(9) By —4)(By+2) =9y? — 6y — 8

WOXERERA LI, (14 5)

(1) (5z —2)(5z +2) = 25x? — 4

(3) 5z — )5z +1) = 25x? —1

WOR AR L2 S0, (1794 4)

(1) (5b4+1)2 = 25b% 4+ 10b + 1
(3) Bz +4)(3z—2) = 9x% 4 6 — 8

(5) (5a+4)(5a+4) = 25a® + 40a + 16

( ) ( ) )

(2) (5 —4)2 = 25x2? — 40x + 16
(4) Bz —12 =922 — 6z + 1

(6) By+2)? =9y*+ 12y 44

(2) (5z+3)(5z —4) = 25x? — bxr — 12
(4) Bz —4)3z+1) =922 — 9z — 4
6) 5z —1)(5z —1) = 25x2 — 10x + 1

8) 3z +2)(3z+4) = 9x2? + 18x + 8

(2) (2a+7)(2a—7) = 4a® — 49

(4) Br+1)Bz—1) =922 —1

(2) 2x—-1)(2z+3) =4z +4x — 3
(4) (2b—5)(2b—1) = 4b%> —12b+ 5

(6) (5a—3)(5a+3) = 25a® — 9

— 13th-note —



~ BF 03-6 -

R 03-6 ( ) ( ) )

1. woszammLzso, (11945

(1) (bx — 3)? (2) (3a+5)2
(3) 3z —5)? (4) (50 —4)°
(5) (2y —1)? (6) (3z+2)°

2. WoREEM LS, (10450

(1) (22— 1)(2z — 5) (2) (32 —1)(3z + 5)
(3) (22 — 7)(2z — 3) (4) (50— 1)(5a + 4)
(5) (2y+1)(2y —3) (6) (20—3)(20+1)
(7) (22— 7)(2x + 3) (8) (52 +3)(52 + 3)

(9) (5b— 4)(5b — 4)

3. ROXZ R LS, (114 5)

(1) By +2)(3y —2) (2) 3z +5)(3x —5)

(3) (22 —3)(2z +3) (4) By —4)(y +4)

4. wostrmmiis, (1040

(1) 2z+5)(2x+1) (2) (2z —5)(2x +5)
(3) (2z + 3)(2x — 3) (4) (bx +4)(5x + 3)
(5) (2a—1)(2a+1) (6) 2z+1)(2x —1)

— 13th-note —



~ BF 03-6 -

R 03-6

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) (5z —3)2 = 25x% — 30x + 9

(3) 3z —5)2 = 9x2? — 30x + 25

(5) 2y -1 =4y’ —4y +1

WOR AR L7223V, (11714 5)

(1) 2z -1)(2z—5) =4x2 —12x+ 5
(3) 2z —7)(2¢ —3) = 4x? — 20x + 21
(5) 2y+1)(2y—3) =4y*> —4y —3
(7) 2z —7)(2z+3) = 4z? — 8x — 21

(9) (5b—4)(5b—4) = 25b% — 40b + 16

WOXERERA LI, (14 5)

(1) By+2)By—2) =9y* —4

(3) (22 —3)(22+3) = 4x®> —9

WOR AR L2 S0, (1794 4)

(1) 2z +5)2x+1) =4x®>+ 12+ 5
(3) 2z +3)(22—3) = 4x®> —9

(5) 2a—1)(2a+1) = 4a®* —1

( ) ( ) )

(2) Ba+5)?2 = 9a? + 30a + 25
(4) (5b—4)2 = 25b% — 40b + 16

6) (3z+2)2 =9x%2 4+ 12x + 4

(2) Bz —1)(B3z+5) =9x%2 4+ 12 — 5
(4) (5a —1)(5a+4) = 25a? + 15a — 4
(6) (2b—3)(2b+1) = 4b% — 4b — 3

(8) (5x+3)(5z+3) = 25x2 + 30x + 9

(2) (3z+5)(3z—5) = 9x? — 25

(4) By—4)3y+4) = 9y? — 16

(2) (2 —5)(2¢+5) = 4x? — 25
(4) (5x+4)(5z +3) = 25x% + 35x + 12

6) 2x+1)(2x—1) = 4x? —1

— 13th-note —



ER 03-7
1. woszammLzso, (11945

(1) (5y —1)?
(3) (3z —2)

(5) (5a+1)2

2. WOREEM LS, (1544

(1) (5y —3)(5y — 4)
(3) (2a +3)(2a — 5)
(5) (52 + 3)(5z + 3)
(7) (5b+ 3)(5b — 2)

(9) (ba+4)(5a+ 3)

3. ROXZ R LS, (114 5)

(1) (2b—5)(2b+ 5)
(3) (2y+5)(2y —5)

4. wostrmmiis, (1040

(1) (bz —4)(5x + 2)
(3) (3a—4)(3a+4)

(5) (2y—3)(2y +1)

~ BB 03-7 -

(2) Bz —1)

(4) (bz —1)

(6) (3x +2)?

(2) 3z —1)(3xz+5)

(4) (22 —5)(2z + 3)

(6) (22 +1)(2z — 3)

(8) (3a +5)(3a — 4)

(2) 2z +5)(2x —5)

(4) 2z+7)(2x—17)

(2) (3y+1)?

(4) By +1)(3y +4)

(6) (52 +2)(5z — 2)

— 13th-note —

)



~ BB 03-7 -

B 03-7

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) (5y —1)* = 25y* — 10y + 1
(3) 3z —2)2 =9x% — 12z + 4

(5) (5a+1)2 = 25a? + 10a + 1

WOR AR L7223V, (11714 5)

(1) (5y —3)(5y —4) = 25y — 35y + 12
(3) (2a+3)(2a—5) = 4a’* — 4a — 15
(5) 5z +3)(5x+3) = 25x2 + 30x + 9
(7) (5b+3)(5b—2) = 25b% 4+ 5b — 6

9) (5a+4)(5a+3) = 25a2 + 35a + 12

WOXERERA LI, (14 5)

(1) (2b—5)(2b+5) = 4b% — 25

(3) (2y+5)(2y—5) = 4y® — 25

WOR AR L2 S0, (1794 4)

(1) (5 —4)(5zx+2) = 25x? — 10z — 8
(3) (3a—4)(3a+4) = 9a’® — 16

(5) 2y—3)2y+1) =4y?> —4y — 3

2) Bz —12 =9x% — 6z + 1
(4) 5z —1)2 = 25x? — 10x + 1

6) (3z+2)2 =9x%2 4+ 12x + 4

(2) Bz —1)(B3z+5) =9x%2 4+ 12 — 5
(4) 2z —5)(22+3) = 4x? — 4x — 15
6) (2x+1)(22 —3) = 4x®> —4x — 3

(8) (3a+5)(3a—4) = 9a® + 3a — 20

(2) (2z+5)(2¢ —5) = 4x? — 25

(4) 2z +T7)(2x—7) = 4x? — 49

(2) By+1)? =9y* +6y+1
4) By+1By+4) = 9y*> + 15y + 4

6) (52 +2)(5x —2) = 2bx2 — 4

— 13th-note —

)



— &Fd 03-8 —
&G 03-8 ( M) ( ) )

1. woszammLzso, (11945

(1) (3z—1)? (2) (2x + 3)?
(3) (2z —5)? (4) (2x +5)?
(5) By +2)° (6) (3z —2)°

2. WOREEM LS, (1544

(1) (3a—1)(3a +5) (2) (32— 2)(3z + 4)
(3) (22 +1)(22—-7) (4) By —2)(3y —5)
(5) (by —1)(5y +4) (6) 3z —2)(3z +5)
(7) (5a — 4)(5a + 2) (8) (5a — 2)(5a +3)

(9) (22 + 1)(2z — 3)

3. ROXZ R LS, (114 5)

(1) By —5)(3y +5) (2) (3z+2)(3z — 2)

(3) (2a —3)(2a +3) (4) (5y —4)(5y +4)

4. wostrmmiis, (1040

(1) (2b—3)(2b+7) 2) 2y — 1)(2y +7)
(3) (2y —7)? (4) (32 +2)(3z —2)
(5) (3z —1)? (6) (5z — 2)(5z — 4)

— 13th-note —



~ BF 03-8 -

&R 03-8

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) Bz —12 =922 —6x + 1

(3) 2z —5)2 = 4x? — 20x + 25

(5) By+2)? =9y’ + 12y +4

WOR AR L7223V, (11714 5)

(1) 3a—1)(3a+5) =9a?®+ 12a — 5
(3) 2z +1)2z—-7) =4x? —12x — 7
(5) (5y —1)(5y +4) = 25y* + 15y — 4
(7) (5a—4)(5a+2) = 25a? — 10a — 8

9) 2z +1)(2z—3) = 4x? —4x — 3

WOXERERA LI, (14 5)

(1) 3y —5)3y+5) = 9y? — 25

(3) (2a—3)(2a+3) = 4a®?—9

WOR AR L2 S0, (1794 4)

(1) (2b—3)(2b+7) = 4b% 4 8b — 21
(3) 2y —7)? = 4y® — 28y + 49

(5) Bz —1)2 =9x% —6x + 1

( ) ( ) )

(2) 22432 =4x®>+12x + 9
(4) (2z+5)2 = 4x? 4 20x + 25

6) (3z—2)2 =9x% — 12z + 4

(2) Bz —2)(3z+4) =92+ 62 — 8
(4) By—2)(3y—5) = 9y® — 21y + 10
6) 3z —2)(3z+5) = 92 + 9z — 10

(8) (5a—2)(5a+3) = 25a? + 5a — 6

(2) Bz +2)(3z—2) = 9x% — 4

(4) (5y —4)(5y +4) = 25y — 16

2) Qu-1)(2y+7) =4y* +12y =7
(4) Bz +2)(3z—2) = 9x% — 4

6) (52 —2)(5z —4) = 25x2 — 30x + 8

— 13th-note —



R 03-9
1. woszammLzso, (11945

(1) (2a—1)?
(3) (z—2)

(5) (2x +1)?

2. WOREEM LS, (1544

(1) (5b+ 3)(5b — 2)
(3) (32 —2)(3z +1)
(5) (2y+3)(2y —1)
(7) (22— 7)(2z — 5)

(9) (5y —3)(5y — 3)

3. ROXZ R LS, (114 5)

(1) (3z + 4)(3z — 4)

(3) (bx +2)(bx — 2)

4. wostrmmiis, (1040

(1) (5y —4)(5y +3)
(3) Bz +2)(3x—1)

(5) (3b— 5)(3b+4)

~ BF 03-9 -

(2) (bz —4)

(4) (20-5)

(6) (22 —5)?

(2) (22 —5)(22 +7)

(4) (5a —3)(ba — 1)

(6) (5y +1)(5y + 3)

(8) (2a — 7)(2a — 1)

(2) (3b— 4)(3b+ 4)

(4) (2a — 3)(2a + 3)

(2) (2a —1)(2a + 3)

(4) (5bz —2)(5z + 2)

(6) (52 — 2)(5x + 4)

— 13th-note —

)



~ BF 03-9 -

R 03-9

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) (2a—1)2 = 4a? —4a + 1
(3) (5 —2)2 = 25x? — 20x + 4

(5) 2x+1)?2 =4x®>+4x+1

WOR AR L7223V, (11714 5)

(1) (5b+3)(5b—2) = 25b% 4+ 5b — 6
(3) B3z —2)3zx+1) = 9x? — 3z — 2
(5) 2y+3)(2y—1) = 4y*+4y —3
(7) 2z —7)(2z —5) = 4x? — 24x + 35

(9) (5y —3)(5y —3) = 25y* — 30y + 9

WOXERERA LI, (14 5)

(1) Bz +4)(3z—4) = 9x? — 16

(3) (5z +2)(5x —2) = 25x? — 4

WOR AR L2 S0, (1794 4)

(1) (5y —4)(5y +3) = 25y? — by — 12
(3) Bz +2)B3z—1) = 9x% 4+ 3z — 2

(5) (3b—5)3b+4) = 9b% — 3b — 20

( ) ( ) )

(2) (5 —4)2 = 25x2? — 40x + 16
(4) (2b—5)2 = 4b% — 20b + 25

(6) (2z —5)2 = 4x? — 20x + 25

(2) (22 —5)(2x+7) = 4x? + 4z — 35
(4) (5a—3)(5a —1) = 25a? — 20a + 3
(6) (5y+1)(5y+3) = 25y* + 20y + 3

8) (2a—7)(2a—1) = 4a® —16a + 7

(2) (3b—4)(3b+4) = 9b% — 16

4) 2a—3)(2a+3) = 4a®?—9

(2) (2a—1)(2a+3) = 4a® + 4a — 3
(4) bz —2)(5z+2) = 25x? — 4

(6) (5 —2)(5z+4) = 25x% + 10z — 8

— 13th-note —



R 03-10

1. woszemmLzs,

(1) (2y+5)*

(3) Bz —1)

(5) (5y +3)°

(1 R4 x50

~ EF 03-10 -

(2) (5x+1)?

(4) (5b+2)2

(6) (5x +4)?

)

2. WOREEM LS, (1544

(1) 2y+1)(2y +5) (2) 2z+1)(2x—7)

(3) (5a — 4)(5a — 1) (4) (52 +4)(5z — 1)
(5) (5b+2)(5b— 3) (6) (2b—1)(2b+7)
(7) (3z +2)(3z — 4) (8) (5a —1)(5a — 3)

(9) By —4)(3y +2)

3. ROXZ R LS, (114 5)

1) (5z —1)(52 + 1) 2) (22 —1)(22 + 1)

(3) (3a+1)(3a —1) (4) (52 — 2)(52 +2)

4. wostrmmiis, (1040

(1) (22 -7)° (2) (22 -3)°
(3) (2a — 7)(2a + 5) (4) (52 —1)2
(5) (3a—1)? (6) (5y —3)(5y — 3)

— 13th-note —



~ EF 03-10 -

R 03-10

1.

2.

3.

4.

WO AR LSV, (11794 5)

(1) 2y+5)? = 4y® + 20y + 25
(3) Bz —12 =922 — 6z + 1

(5) by +3)2 = 25y%? + 30y + 9

WOR AR L7223V, (11714 5)

(1) 2y+1)(2y+5) =4y* +12y+ 5
(3) (5a —4)(5a — 1) = 25a? — 25a + 4
(5) (5b+2)(5b—3) = 25b% — 5b — 6
(7) Bz +2)(3z—4) = 9x? — 6 — 8

(9) By —4)(By+2) =9y? — 6y — 8

WOXERERA LI, (14 5)

(1) 5z — D)z +1) = 25x% —1

3) B3a+1)3a—1) =9a?® —1

WOR AR L2 S0, (1794 4)

(1) (22 —17)2 = 4z — 28x + 49
(3) (2a—7)(2a+5) = 4a® — 4a — 35

(5) (3a—1)2 =9a? —6a + 1

( ) ( ) )

(2) 5z +1)?2 = 25x2 +10x + 1
(4) (5b+2)2 = 25b% 4 20b + 4

6) (5z+4)2 = 25x2 4+ 40x + 16

2) Qe+ 1)(22—-7) = 4x® — 12 — 7
(4) 5z +4)(5z—1) = 25x? + 152 — 4
6) (2b6—1)(2b+7) = 4b2 +12b—T7

8) (5a —1)(5a —3) = 25a? — 20a + 3

2) 2z—1)(2z+1) =4x?> —1

(4) bz —2)(5z+2) = 25x? — 4

(2) (22 —3)?2 =4x®>— 12+ 9
(4) 5z —1)2 = 25x? — 10x + 1

(6) (5y —3)(5y —3) = 25y* — 30y + 9

— 13th-note —



